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Math I
Unit 2 Polynomials — Study Guide (Standard)

Name: le Dl

Find the imgrtant information for the following graph. 4 d OdW’QI pos rive

y Maximum point(s) (and is it relative or absolute?):
4 absolute.
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Minimum point(s) (and is it relative or absolute?): _(__ZJ_Q)-—‘——C- Z, )

L . Real zeros: X =~ 2 , X = 2
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X-> oa , F(x) = o0

End behavior:

Domain:_(~60_ oo ) Range:_[Q , o0 )

Intervals of increasing: Intervals of decreasing:

(-2,0)4(2,00) (-o0,-2)¢ (0,2)

Find the important information for the function f(x) = ~x® + 6x* — 8x and sketch the graph. _
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Maximum point(s) (and is it relative or absolute?): f 3,23) 5D
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Minimum point(s) (and is it relative or absolute?):_( | , - 3)
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Divide using synthetic or long division. Then determine if the di
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(¢ = 7% —144) + (x +4)

What is the remainder when we divide f(x) = 2% —5x -1 by (x—4)?
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Simplify (3x° + 17 = 1) + (-2x° - 6).
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Simplify (3k — 6)(5k + 5).
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Simplify (4 + K — 8K) — (4k* — 6k + K°).
U +e¥Re-Yktrp-r¥

~4Yk*-zk +Y

Simplify (7x — 5)(5x — 8).
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Simplify (2x% + 8x—1)(2x = 5).

x " 4B -

Ix Tg lbx})ﬁix
_Jyox o s

U rox-42x+s




-

«ame each polynomial by degree (constant, linear, quadratic, cubic, quartic, quaNtic, €tc.) and by number of terms
(monomial, binomial, trinomial, etc.)
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Find the volume of a cube with side length (x + 2) inches. -
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